Solution TD 3, Exo 4, 5.
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Bercise 12: Grouped complete data

‘rouped complete dta
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We can then compute:
MITF = 56033333 years
s = 6025988889 years
Standard deviation = 57 = 2,45478897 years
™5

We want to estimate the relabilty function with the product imit method and rank adjustment
method.
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First, we can calculate the relabity () using the formula.

Ou=m
RO = G R )
Then we can compute:
FO=1-RO
censored d
we use:
RCETET)
Rank inrement = (-2
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Finally, we have the adjusted relabilty being

A0=1- (adlu:zzd rank ~03)

more in account the censored data



